[KBS-et= 2| M X|] D-20

ME 3183

M EM = AL

)

5
=]

QHASINIR? K& O{EX AL HEZ|AIQ $h2|MX|Q HEH Lt
HE HMSPHS = 02-3014-10008H 4 L|C},
X252 R 7IX] FH0l CHsl ofEA MzstAl=X] o Fx gLCt
ZZU AZHS o] XS0 FAIH ZALEZ| NS CL
[SEX M™E HE]
ME1. MEHe oz FUSEY AFX|= oy nr
1. M2 487 > & 1-1
99. 1 2| X[F -> ZASE
ME1-1. M2 4372 oL S0l AFSHALR?
1. &S 2. AH2&
3. =17t & 4. AF17HM12S
5. d=27tM1& 6. 427135
7. 8™ 8. M EME
9. dElM2s 10. 8=
1. 8388 12. dH1=
13. dEH2s
99. 1 Q| X[F -> ZALSEH
HY 72 SHs #&
129 |8 Fdel=ds, 9. ByelH2s, 12, BEH15, 13 ATH2s
2d9 1. 08, 2. M2s, 7. $85, 10. 855
3. S17HMNSE, 4. B=17HM2E, 5.0 d27HMI1S, 6. H27HMI3 S,
il 1. 888
ME2 HEEHEY . S42|2 T
1. At
2. X}
ME3. "ol dMe= UoE ofEA EA=X2? _ A
1. 17M O[st -> EASET
2. 18~29A
3. 30~39A
4. 40~49M
5. 50~59A]
6. 60~69A
7. 70M| Of 4




EM £8 o8
1. MMEHHME 26l 480 A2 J3 HMAHN FES MZo|MdL N, =X &
2 dzZto| MU
1. BHEAl ErE ZHo|ct
2. 7bsstH =mE Zo|ct
3. 42 By dzto| gict
4, M5l EEg MZo| gict
8. 2% & At
9. RE/FSHEA H A)
[EE MM . HEE| vs 23|5]
22. Mo o|H M2 FRAHEETY I3 MAHOIM Cf2 FEHE 7Ho| cHAESICHH, =70
A EESHAAEL I =H2 2E9 =MYULICL (7] 1-2 Rotation)
1. 20 8Fg Mg >22-1
2. =0IoE R3% ->E2-1
97. 7|E} & >22-1
98. FurY ZEIt gict ->E2-2
9. ZE/FSEEHA Y A) ->322-2

[F2 XX ZE]

F2-1. MEEHHAM MEfst SHE AL XX A ZSLN, S M2t X|X|sts FHIL

T2-2. X|X|ojfet= #AQOl Y ofH ME FSFESTY I HAHMM CF TH
= o cHASICHAE F7F SME A ZCHn dZstdU b 282 A9 =AY

(=

D~}

3. 48 I2|9¥ At #AUSIH Cg T o= oA o S&HSHALITR
(E7] 1-2 Rotation)

1.8 RS KHsH7| fldl olgo gs Zo{F0F ottt
2. o YEE AMDHY| [l ofgof gs 200 ohrt

9. RE/RSHEAR L %)




8 XX x]
4. MUEHME O 2 5 ol EES X X|SHMLIT 2259 =22 S eSS
(27| 1-8 Rotation)

1. Q=200 -> Hi&1
2. =Rl -> Hi =21
3. sAEo|Y -> Hi&1
4. LIS > Hi|21
5. 22024 -> Hi&1
6. MTIE -> HY21
7. REE -> Hi|21
8. 2=y -> Hj21
97. 1 9| Ct& MG -> Hi&1
98. X|X|St= HEO| gict -> 2441
99. RE/FSEEX E A) o> B4-1

£4-1. 18, o Mo =F0|2tE G ZTZ0| 7= ®QU7IR? 29 =22 =7
ce|ZA&Lct (27] 1-8 Rotation)

Heooxy

=003

=AMHolE

JHE A

MZ20|2f

M2 AT

Feg

e

[m]

© N vk wn =




100
]|

O

—

Rr
oK

KI

!

2. AFR/7]
3. Xtg e

4. MH|2/THOH/ S Y

<4 Ik 20
20 Kk or

/EI1 /7| Ef

P

ok

)

L 7k2

24}

L

=010 FHH AS2 oS 5 ofcio Sehct

010
Mo_%_%_%&unl

— a ;< oo

L7

Al
=

}

4

o

il

LIEE ]

=13
=]

At
T S2AZ 1790 X[ A= LICH

F

na

4

b=2| Xl M2

e
(s}
—

[




